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I- .\latrix addition

If A =[aij] and B: [bij] are mxn matrices , the sum of A and B is the mxn matrix C: [crj]
defined by .

eij:aij+bij (1<i <m,1.<j <n)
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A-B:A+(-B)
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2-Matirx M ultinlication
liA: I a;.;] is an mXp matrix and B = [b;;] is a pXn matrix, then the product of A and

B is the mXn matrix C :[ci;] defined by:

Cij=a;;b1.; +aizbzj*....................+a;obo, ( I < I<m, I Sj 1n)

Exrtet^=m],*, uno r=f-1 -url,-,Lzl 1l
Then \-/
otr _ [(1)(-2) + (2)(4) + (-1X2) (1)(s) + (2)(-3) + (-1X1)l

t (3)(-2) + (1)(4) + (4x2) (3)(s) + (1x-3) + (4)(1) I
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